Roll No:-
Sem-V Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Civil Engg.) (Theory) [Max. Marks: 70]
Advance Surveying (2015402-P)

- All questions are compulsory. (ﬂﬂ-ﬁ 1K) a{ﬁaﬁ%p
- Marks are mentioned on the right side of each question. (3 T Uy & T8 3R &mﬁv_aél)

Group (A) (YU -¥)

Q.1  Choose the most suitable answer from the following options. (1*20=20)

Sy« fawe &1 gAwe ford)): -

i. Principle of plane table survey is
(TS AT Ta&01 &1 RIGid 7))

(a) Orientation (b) Triangulation (c) Parallelism (d) Traversing
) (HHTAR) (dhHU)
ii. A Theodolite in which the telescope can be revolved through a complete revolution in a vertical plane is
knownas
(@8 rSTege ford grfa Te SHe@ier a@ H U Yuf ufkehHur Aread ¥ g3 Tl g, & U & ST
STl 8
(a) Transit Theodolite (URTTHA fATSI@TEC) (c) Optical Theodolite (YT fAAISIBTEC)

(b) Non-Transit Theodolite (R- URITHA fATSI®I8e)  (d) Tilting Theodolite (CifeeT RATSI®T=C)

iii.  In Bowditch’s rule, correction to latitude of any side is equal to
(SISt fFam o, fxdt o urT o ez H YUR & RISR 8-
(@) (Latitude of that side /arithmetical sum of all latitude) x Total error in Latitude
(S TR BT 318 / Gt 1&/Y BT SfehTURr TNT) x 3fefi H o I )
(b) (Length of that side / perimeter of traverse) x total error in latitude

(S NP DI FaTs / HIORWE DI URIY) x & H F6 )
(c) (Length of that side / arithmetical sum of all latitude) x total error in latitude
(3T WP B GaTs / JUT 31eii BT SHToRfad anT ) x e H $o I2)
(d) (Latitude of that side/Perimeter of traverse) x total error in latitude

(3T TP BT & / ATERET B aRfY) x 3f&iq T $o I

iv. In which survey, chaining operation is completely eliminated?
(I8 Td, forgw Site Ao ufshan &1 gt ke @ ger fear S |-
(@) Theodolite Surveying (b) Levelling (c) Compass surveying (d) Tachcometric surveying
(RaTSiemse wdamn)  (delao) (HHUTH Hdg) (CHITHTCRT Faerom)
V. The disadvantage of anallactic lens is

(TATACH T BT TH I 6--)
(@) It reduces the brightness of the image. (?Il"s’@ﬁaﬁ TS P HH Dl %|)
(b) It is not required in the internal focusing telescope (&ﬁﬁ%uﬂwmﬁ D] IS -TGQ[_eﬁFﬁ%\)
(c) It simplifies the calculations (HEWUHTHOA[WW%D
(d)1t ensures that there is only multiplying constant (?Ts'ﬁﬁ'@ﬁ hdI %% Had Uch 10T RRi® %’y)
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vi.  The relation between the radius (R) and degree (D) of a curve is

(356 Bt BT (R) auT {53t (D) & o gae )
(a) R:D/1917 (b)R = 1917/D () R:D/1719 (d)R = 1719/D
vii. A total station is an instrument consisting of the combination of

(e T Ueh USRI ¢ ford T gidl 8:-)
(a) Prismatic compass and theodolite (ftlﬁiﬂ'qw G?ITW@W

(b) Auto level and Tachometer (YdHHdcIh %ﬁ'ﬁﬂm
(c) EDM and electronic theodolite (EDM 3R SAaCI e

(d) Digital planimeter and auto level (%%IEEW%ET S?ITWTI?IW

viii.  How many types of EDM instruments are based on wavelength?
(R W 3MYTRT EDM ISRl fbd USR H B 3| )
(a) 02 (b) 05 (c) 03 (d) 04

ix.  Application of G.1.S. in civil engineering

(3 MRFHTH G. 1. S. BT SFHANT 3:-)

(@) Mineral exploration (b) Map making (c) Site selection (d) All of the above
(S 3{=ayon) GERUKCEIS]H GIEEERE) QWRIad T
X. In which survey, the field work and plotting are done simultaneously?
(99 FH &5 BT 3radics1 Ud 3MTeRa- T I1Y fohar S1Tdr §9)
(@) Compass survey (b) Chain survey (c) Theodolite survey (d) Plane table survey
e ) ERERER)] (UaTSiase demn  (FHYC Hd&mn)
Xi. The size of the theodolite is defined according to the

(frad SR FAAISIage & SMHR &I R fovar a1 82)
(a) Diameter of the graduated horlzontal C|rcle (GMTW afas dd [ AMY)
(b) length of the telescope (QQGIH P cldls)
(c) Height of the standard (HI% CHEE: \’n‘Cl|$)

(d) All of the above (SR )

xii. The addltlve and multl%ng constants of Tachometer respectively are

o fRRT® HH: )
@ (f +d).f/i (b) (f+0D.f/d © (f+d).f/d @) (f.f/D
xiii.  In simple circular curve the length of long chord is given by the expression
(IR JATHR ab H, el Siidl BI TdTs [y ol GRT & St 5:-)
() L=2Rtan (b) L =2 RsinZ (L= R(sec2-1) (dL=R(sinZ-1)

XiV.  GPS means (G.P.S &1 AJTd §:-)
(a) Global processing system G@Wmﬁlﬂ)
(b) Global positioning system (F@Iard giforaf-i1 fie®)
(c) Global profile system (Falad UThTsd e )
(d) Geographic positioning system (ﬁuﬁuﬁmuﬁmﬁnm
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Xv.  The working edge of the alidade is known as

@ferss & wrdid fb IR o1 frg U & ST 911 1))

(a) Bevelled edge (b) Drawing edge (c) Fiducial edge
(IR g8 ThRT) (

xvi.  Which of the following is the purpose of using theodolite?
afeiad & T o aiedge o U & ST 3L 8?)
(2) Measuring horizontal angles (&t SIUN &Y A1)
(b) Measuring magnetic bearings (tj,di?btl faehH B HIYAD
(c) Ranging a line (fE! TR BT ST BT
(d) All of the above (SURIa THY)

xvii.  Which of the following is not correct about electronics digital theodolite?

(d) Para]lel edge
(FHIR bR

Ea I fSfred Raisierse & R # Fafefad # 3 19 91 98! 181 82)

(a) Not affected with wind (8aT ¥ UHTfdd 7g))
(b) Repeated readings are not required (SR-§X RS &1 STagHdl Tsﬁ%b
(c) Field work is carried out very slow (éﬂﬁ 3fadic- <t Tfd I gie %)

(d) Electronics reading taken (3aiaei-ds a1 il 7T%)

xviii. Inaccessible points may be located by
@ forgaft ! fpy fafY sarT Ry fopan <11 wean g))
(@) Intersection method (b) Radiation method (c) Traversing method (d) Resection method
(fcredad fafe) ( fafapur fafe) GIGIRSCIUNECIR)! CELRATIR)
xiX.  Which is used for performing professional contour survey?
(OURaR JHIT GI&IUT B P T fgepT IUTNT favam e g))
(@) Theodolite (b) Total station (c) Surveyor compass (d) Tachometer
(Clcd W) GERRER )
xX.  Which of the following is/are advantages of drone surveying?
(SIF qa&fur o FfeiRad o & & 91 a1y &)
(@) Reduces survey costs (lﬁ&rﬂT CIFTd & H hdl %|)
(b) Reduces field time (& @D & AT HH B ST 7))
(c) Provide accurate and exhaustive data (Fc1d Td YUl ST UaM &R &)
(d) All of the above (SR )
Group (B) (g9 -#M)
Q.2 Write the name of accessories of plane table and explain their use. 4
(JHUCE & IUBIVN & 11 foRau iR I Iuanl fo et fefom)
OR (3{YdI)
How is the orientation done with magnetic needle method in plane table survey? 4

(TAYCE Taaur & Jeaia T fAfY ¥ SgeiieRur Ha fhar Sirar 7))
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Q.3

Q.4

Q.5

Q.6

Q.7

Define
(a) Face left
(b) Face Right
(URYTT B
(30) By BT
(@) Y ET)
OR (31YdT)

Write the names of essential parts of a Transit theodolite

(URITHA fITSIoTge & 3aza® Y o I foRag)

Define anallatic lens and write their advantages.

(EATGIeH o D TRHTYT foRaT T 39 @14 P fofag)
OR (37YdT)

Define degree of curve? Express the relation between radius and degree of curve

@ ! fett &1 afRuTitd &< | B 3R a6 &1 et & o Ay ovd o))

What is the use of electronic distance meter (EDM) and Write its principle?

EoaRIHE SReY Hiex (EDM) BT 31 ITINT 8 3R 391 figid fofawr)

OR (31YdT)
Explain the following
)} Uses of total station
i) Process of contouring by total station
(Frafefad o ey

i) TIe® WIH &b STTNT
iy  CIc® WM & GRI g Hi Ufehd)

Explain in details about drone surveying

(S I&Ur & IR T fawar ¥ aamg))
OR (31YdT)

What is the use of Global positioning system (GPS) instrument?

(@IS UIRTRITT RIeH (GPS) IUBRUT BT SUUNT T §2)

Group (C) (Z9 - ¥

What are the methods of plane table? Describe method of intersection with a sketch.

(FHYCS B! At o g2 Y@M & 91 Ufawde ! [t &1 guie &)
OR (37T

Write the procedure of setting up the plane table over a station.

(BT LI & SHW JHUCS ST DI Ufehar fosRaw))
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Q.8

Q.9

Q.10

Calculate the length ang bearing of line DA
(T 3T DA b F1aT8 3R feha™ &) 7urr 63))

Line Length(m) Bearing
AB 75.50 30°24'
BC 180.50 110°36’
CD 60.25 210°36'
DA ? ?

OR (31dT)

Describe the process of temporary adjustment of a transit theodolite.

(U IR fiSierse & Rl GHrISH &1 ufhar o1 quiq &3))

The followings are the records of tacheometric survey:

(TS CHIACT & T 3T fAdad 7:-)

Inst. Station | Staff station | Bearing Vertical angle | Hair reading
A B N30°30'E + 1090’ 1.250, 1.750,2.250 | (f/ _
( /l.) =100
B C S40°0'E +5°0’ 0.950, 1.750, 2.550 | (f+d)=0
C D S$45°0° W +8°0’ 1.550,2.150,2.75

Calculate the length & bearing of DA if staff is held vertically.

(@fe CIh BT Faad @ S A DA FT GaTs 3R [GHHH B TT0FT HY))
OR (3fydT)

Two tangent AB and BC intersect at point ‘B’ at chainage 160.5 m. for setting out circular curve of
radius 115 m and deflection angle 30° by the method of offsets from long chord,
Calculate: a) Tangent length

b) Chainage of T1 & T>

c) Curve length

d) length of long cord

e) mid ordinate .
(@I =T XWTE AB Ud BC, g ‘B’ TR &1 160.5 m TR UfdDE Bl o Gall oiial J fihae o
fafe &RT 115 m a1 SR fa&u= HI01 30° & TABR ah B! AT B & ST, TOAT B

3T T BT ST

T YEOTIT1& T2
%) TP DI ST
) Gdl Sital B GHTs
) A PIfC 38 )

Write the advantages and disadvantages of remote sensing.
e IR & 1y Td ufar fofau)

OR (31YdT)
Define G. I. S. What are the key components of GIS?

(SIT. 31720, B IR 63 | T3S, T & T gedh 1 87)
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Q.11 Write the functions performed by the Total station and its uses. 6

(CIC® W YRT fohd S a1 BT qdT 39 ISUANT I fofRaw))
OR (37

Write short notes on 6
a. Pulse techniques
b. Phase difference techniques

(Sifare ey fod:-
3. U3y ddb-id
§. RO R dHID )
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